BUTTERFLY VALVE TYPE 57L (Lug Style)
- Shetmenn

@®PDCPD M Easy Piping Maintenance

It is not necessary to remove fluid from the pipe line.

 /

{ ‘ M Strong In Pulsating Pressure

. 3 Times Stronger than a Major Competitor.
B Same Features as Type57

a) Protection for Over-Tightening Constant Stem Torque.
b) New Designed Disc and Seat (Liner).
- Longer Life
- Lower Sealing Torque
- Higher Cv Value
c) Plastic Gear Box.
- Extremely Corrosion Resistant
- Easy Operation
d) Stem Retainer (Safety device).
- Prevention of Removal of
Stem under Pressure
(Safe Installation of Accessories)

Direction of Flow

¢
- JIS and DIN Standard

Max. Working Pressure MPaf{kgf/cm2}[PSI}
‘ ‘ 80mm - 250mm (3inch - 10inch)
Poly dieyclo penta diene (PDCPD) | JIS, DIN —5-100 (20 - 210) 1.0MPa{10.2kgf/cm2}[150PSI] \

- ANSI Standard

Body material Standard | Working Temperature C (°F)

: ; ; gy Max. Working Pressure MPaf{kgf/cm2}[PSl}
Body material Standard Working Temperature C (°F) 125mm - 250mm (3inch ~10inch) 300mm (12inch)
Polyvinyl Chioride (PVC) 0-50 (30 -120) 1.0MPa{10.2kgf/cm2}[150PSI] ‘ 0.75MPa{7.7kgf/cm2}[110PSI] ’

| - WORKING PRESSURE VS. TEMPERATURE J

[LUG-BUTTERFLY VALVE TYPESTL(WAFER)| [LUG-BUTTERFLY VALVE TYPE57L(WAFER)]
Nominal Size:80mm(3inch) - 150mm(6inch) Nominal Size:80mm(3inch) - 150mm(6inch)
= =
g L,
= 1.0 .
© I \ D 110.2}
{102}
%[150] ) %[150]
\ - (0]
o
o . g
> \ SE 3
g S 2 o e o
E & > & & ([5.'1§
[70] N 70
2 2
5 5
; 0.0 ; o0 0 20 20 40 60 80 100 120
E?‘%) -(,25? (2‘5’)(:8)] %)) (?{?5) (163)) (?705) 2208) 2225(03) (-40) (-5) (30 (700 (105) (1400 (175 (2100  (250)
TemperatureC (°F) TemperatureC (°F)
-40 -20 0 20 40 60 80 100 120 -40 -20 0 20 40 60 100 120
(-40) (-5) (30 (700  (105) (140) (175) (2100 (250) (-40) (-5) (30 (70) (105) (140) (175) (2100 (250)
I
.| N
; A ‘
R

34



Unit:mm

JIS 10K

mm inch C nh
80| 3| 77[150| 8 |19[105|46{191| 94|135|56|250|193|40 [M16X40 wicth across fat 24
5 100] 4 [102[175| 8 | 19{134|56|206|105|150(56 {250 217 |40 [M16X40 width across fat 24
125/ 5 (129]210| 8 |23]169(66|237|124|168|69 |320 |247 |50 | M20X50 width across fat 30
. T z 150| 6 [150(240| 8 |23{190|71|252|138|183|69 (320|285 |50 |M20x50 width across fat 30
dq \5@ 200| 8 [195(290| 12|23 |242|87(283|173[214|69|400{345|60 |M20x60 width across fat 30
P.C-D-C ) XEX Unit:mm
i ™~ t 0 4 DINPN10 :
M=l X =
== =@ | 80| 3| 77[160| 8 |18(105|46|191| 94|135[56|250(193|40 |M16X40 width across fat 24
i 0 Dl 1100 4 [102]180| 8 [18]134|56(206|105(150|56|250|217 |40 | M16x40 widh across fat 24
W 2 LT [125]5 [120]210] 8 [18]169]66|237|124]168]69 32024750 [M20x50 v across fat 30
150| 6 [150{240| 8 |23{190|71|252(138|183|69 (320|285 |50 |M20x50 width across fat 30
200| 8 [195(295| 8 |23 |242|87(283[173[214|69{400|345|60 |M20x50 width across fat 30
No, DESCRIPTION  [Pcs| MATERIAL | REMARKS Unit:inch
@ | BODY 1 | PDCPD,PVC oninalSize A 0b' ' 5 A
(@@ | LUG-INSERT STAINLESS STEEL(SUS304)
®| BODY-INSERT 1 [ STAINLESS STEEL(SUS304) |[usedfor 125,150m POCP0ly | (150 | 6 |5.91] 950 8 [0.87[10.63|7.48|2.80| 9.92|5.55|7.20 | 2.72{12.60[10.67|1.97) 3/4-10 UNC
2 | STAINLESS STEEL(SCS13) | used for 200mm PDCPD on}
®DISC T PP.PVDF 200| 8 |7.68[11.75 8 |0.87(12.60{9.53|3.43 |11.14|6.61|8.43 | 2.72 [15.75[12.76[2.26| 3/4-10 UNC
@ | SEAT 1 : Note : The shape and appearance of assembly differ alittle with nominal size compared to this drawing.
©] O-RING(C) 1 EPDM,FKM,FKM-F,FKM-C
@|STEM 1 [ STAINLESS STEEL(SUS403)
8| STEM RETAINER(A) | 1 | PP
® | HANDLE(A) 1| PP
@ |HANDLE INSERTED METAL | 1 [ STAINLESS STEEL(SUS316L)
@| HANDLE LEVER 1| PPG
8| PIN 1| PPG
9| SPRING 1 | STAINLESS STEEL(SUS304)
0| WASHER 1 | STAINLESS STEEL(SUS304)
2| BOLT(B) 1 | STAINLESS STEEL(SUS304)
@| LOCKING PLATE |1 | PPG
@[ SCREW(B) 4 | STAINLESS STEEL(SUS304)
@[ CAP(A) 1| PP
@ | RETAINING RING | 2 | STAINLESS STEEL(SCS13)
@] SCREW(F) 4 | STAINLESS STEEL(SUS304)

> € _DIMENSIONSTABLE D

JIS

Nominal Size JIS 10K Numberof GEAR BOK
mmincthnhD1D2D3LHH1H2H3IA1A2WT t mh;rm m

80 | 3 | 77/150] 8 | 19]105]122|160| 46(165] 94|130[ 92 |245(167 64 |193] 40| MErnid

100{ 4 |102[175| 8 | 19134]122|160| 56(180[105{145| 92 |260{167| 64 217|40| "erese
125] 5 (129210 8 |23|169[122]160| 66]195(124(160| 92 [275|167| 64 |247|50 Mggmh_ 5 [
150| 6 |150[240] 8 |23(190]122]160] 71(210]138175| 92 |290|167| 64 |285|50| "2t
200| 8 [195[295|12|23[242|122{160] 87[241|173|206] 92 [321{167) 64 345|60 | "l

250] 10250[350| 12 25[302|122160]112|276{208|241| 92 |356|167| 64 [415|70| AT

NominalSze , DIN PN10 Numberof - GEAR K
mmincthnhD1D2D3L HHiHaH3 | AtAoW T t mrr\&; m

M16x40 vidth
aoss fat 24

100{ 4 [102]180] 8 |18]134]122|160| 56/180|105|145| 92 |260|167| 64 |217|40| "y
125| 5 [129[210] 8 |18(169]122]160| 66/195|124/160| 92 |275|167) 64 [247|50| "kt
T - 150 6 [150[240| 8 |23]190[122]160| 71[210[138]175| 92 [290]167| 64 28550 | X%
0 A RIA R AR ——
| BODY T PDCPD.PVC 200| 8 [195|295| 8 [23]242|122]160| 87|241|173(206| 92 |321|167| 64 345|60| ket
®| LUG-INSERT STAINLESS STEEL(SUS304) 250110 [250(350( 12(23(302[122| 160|112|276|208[241] 92 [356( 167 64 |415|70 "2 Th 0
1 [ STAINLESS STEEL(SUS304) | usedfor 125,150mm (PCPD]
©®| BODY-INSERT |5 STAINLESS STEEL(SCS13) | tsedfr20.250m (P00
% DISC 1 |PP,PVDF A
SEAT 1 ominal Size A Olb ber of GEAR B0
©0-RING(C) 3 EPDM,FKM,FKM-F(,FKM-C d D D1 D2 D Ar A
@|STEM 1 | STAINLESS STEEL(SUS403) 150| 6 | 591] a50]8| 0871063 7.48] 4801 6.300.80] 827)555 689) 362 11.42]657 | 252 1067] 197|352
STEM RETAINER(A) [ 1 [PP P
©| GEAR BOX TTPLASTIC efc. 200| 8 | 768)1.75{8] 0.7]120] 053 460] 630349 948l s] 8.1]362 1264657 | 252 276226 ¢ - TYPET
@|BOLT(C) 4 | STAINLESS STEEL(SUS304) 250] 10/ 984)1428(12] 081515189 460] 630k 411087]7.85 949] 362 1402]857 | 252591 |22 [&¢ |
®|RETAINING RING [ 2| STAINLESS STEEL(SCS13) 300/ 12 f.9afmoilie oggliefie. 7] 74011 s1ogha0lo2gf 73| 452 o2 1854|252 I8
©] SCREW(F) 4 STAINLESS STEEL(SUS304) ) T 5 T O
| GASKET(L) 1 |EPDM NOTE. The shape and appearance of assembly differ little with nominal size compared to this drawing.

35



